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EDUCATION

( Honours Core )
Paper : EDU-HC—4026
( Educational Statistics )
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
woTe AT ﬁt‘f"ﬂiﬂ'@ Taq faa
fa) Who was the chief exponent of
statistics. ;
oif¥eis R o1 @Rl @m ik 2

(p) Compute mode of the data for which
mean and median are given 30 and 32
respectively.

AR SYR 1S SF T Ty 30 HF 32 ©F
2[4 9259 AT 41 |
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(c) is a bar graph with no gap in | . oo 2 T
between. ! (i) The median is lies between mean
( Fill in th : and mode.
i saelanc ) T4 51T AF I TGS AT |
_ = 9% wufog IR e @I 9@t i . S
qB ; (i) The median is lower than the mean.
TR STTOLF FH |
( <10 o1 =@ 341 ) :
(iv) None of the above
(d) What is zero correlation? @°[qq (RICAICOIEE T
0 T S 2 ( Choose the correct answer )
( w7 Teach! AfR Sferear )
(e) Write the formula of calculating
percentile point. 2. Answer the following questions : 2x4=8
IR {7 o111 BT Jacht fordm | o eRpRd T fra
() What is the value of kurtosis in a (a) Find out the median from the following
normal distribution? setioliscuresty
FofE foaq oo sgmee a1 F16° g Im were fira AR o g ey 9
e 2 . ninlsl2,,24, 10,,35,.29 42,1915

: Writ inci i
(g) Which of the following statements is (b) rite any two principles of constructing

; : a graph.
true regarding negatively skewed distri-
bution? : 3 rfod Sz R et o1 S o= |
Y R ﬁ@‘ﬁ (RIS O (6] I , (c) Write any two advantages of product
7er ? , moment method.
() The mean is higher than median @7l o0 “Fafed [ I 751 et o
g What i al distribution?
at 1s norm 18 ution
TYAT 31 IEFOT TS @R | (d)
FrefRe Redd T &2
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3. Answer any three of the following questions :

5x3=15
OO 2PPRd & e fefbr Teg i
fa) Write the functions of statistics.
AR R TR o |
(b) Determine standard deviation from the
following scores :
O AFPIRA *[1 e Rpifs ety o :
ISSOSEROMNIe 27 31 32
() Write about the drawing procedure of
cumulative frequency percentage curve.
A TR MO @47 S TGS HACE
for |
(d) Determine coefficient of correlation by

using rank. difference method from the
following ranks of two sets :

Sod PN YR FHERT [ T 14T 5
AR IR TDTT QN Fefy 9

TestHl i IAMErg S G s iR 5 7
dest28 SR e v0. L TS AT 6 5

(S)

4. Answer the following questions : 10x3=30
O PRI e o

fa) What is mean? Write its two merits.
Determine mean of the following data :

" 2+2+6=10
515 6 2 279 o1 R 741 | ©o SR ©
s1G foiefar <
Class Interval Frequency
19 ST RIS
9099 5
80-89 6
70-79 9
60-69 15
50-59 7
40-49 5
30-39 3
N =50

Or / |41

(b)) What is averagve deviation? Determine
average deéviation of the following table :

(e) Write the properties of normal
probability curve.

TERF FoRATS! @A == o |
24A /706 ( Continued )

2+8=10
e Rpfe 7 wem ofereree =/ 18 Rpfe
faefg 0
Class Interval Frequency
I SETIE R
2628 2
| 23925 3
( Turn Over )




(©

24A /706

(6)

Class Interval Frequency
1T ST IR
20-22 5
17-19 7
14-16 10
11-13 5
8-10 6
5-7 2

N =40

What is histogram? Draw a histogram
and a frequency polygon on the same
axis from the following table (use graph
paper) : 2+4+4=10
g 7 T SIfeieR [l @GP T

9ol TRObg F B IFFTO! TRGE S5

1 (ARF F1or IR FRAL) -

Class Interval Frequency
1 B . JRET
60-64 2
55-59 4
50-54 8
45-49 10
40-44 6
35-39 4
30-34 4
25-29 o

N =40

( Continued )

(7)

' Or / 5241

(d) Determne combined standard deviation

from the following data : 10
wTq ©UA “[1 IS Te [pfs A7 1 -
First Group Second Group
A3 7 faSr el
N 40 20
E M 25 15
SD 10 5
(e) What is percentile rank? Determine
PR75 and PR94 from the following
. table : 2+4+4=10
| oI T 7 S ORI 1 PR75 S
PR94 ¢ 91 :
Class Interval Frequency
I ST 7Tl
90-94 2
85-89 S5
80-84 5
75-79 12
70-74 20
65-69 16
60-64 7
55-59 5
50-54 3
N=175
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(/) Mean of a normal distribution is 56 and
standard deviation is 6. Assuming the
distribution to be normal, answer the
following : 5+5=10
@ §F Tl Rewm o 2d 56 S
T Rpfe 29 6. Revaw  emmmmea
Rreifre 3fe 4fteT were frammes Tew i -

(i) Calculate the percentage of scores
falling between 44 and 62.
44 F 627 TEre 4P oedl I [efy
EXIN

(i) Find out the percentage of cases
above 51.
513 8o XeFq1 A AT 41 |

* %k
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